

11 and 12 - 13 and 14 - 15 and 16

$$a_n = 4, 9, 16, 25, \dots \Rightarrow a_n = (n+1)^2$$

(11)

$$a_{10} = (10+1)^2 = 121$$

(12)

$$a_n = 4, 16, 36, 64, \dots \Rightarrow S_n = \frac{1}{4} (4(4) + (10-1)4) = 49$$

(13)

$$a_1, a_2, a_3, a_4 = 2, 9, 16, 25 \Rightarrow S_{1999} = a_{1999} + a_{1998} + a_{1997} + a_{1996}$$

(14)

$$= \frac{4}{1} (a_{1999} + a_{1996}) = \frac{4}{1} (118 + 120) = 976$$

$$a_{10} - a_{90} = a_1 + 9d - a_1 - 89d = 9d$$

(15)

$$a_n = 1 + \sqrt{2}, 2, 3 - \sqrt{2}, \dots \Rightarrow d = 1 - \sqrt{2} \Rightarrow 10d = 10 - 10\sqrt{2} = 10(1 - \sqrt{2})$$

$$a_n = d^{2x}, r(d^{2x}), d^4 \Rightarrow d^{2x}, r(d^{2x}) + d^{2x}, r^2(d^{2x}) + d^{2x}, \dots$$

(16)

$$\Rightarrow d^{2x}, r(d^{2x}) + d^{2x+1}$$

$$\Rightarrow y = 2x + 1$$

$$b_n = x, 2, 2x+1, \dots \Rightarrow x + d = 2x + 1 \Rightarrow d = x + 1$$

$$\Rightarrow x + \frac{x+1}{2} = 1 \Rightarrow 2x + x + 1 = 2 \Rightarrow 3x = 1 \Rightarrow x = \frac{1}{3}, y = 2 \Rightarrow xy = \frac{2}{3}$$

$$a_n = (n-1), (n-1), 4n, \dots \Rightarrow 4n = (n-1) + 1 \Rightarrow 3n = 0 \Rightarrow n = 0$$

(17)

$$a_1 = 4n + 2 = 4(\frac{1}{3}) + 2 = \frac{10}{3}$$

$$a_n = 2, 4, 6, 8, \dots \quad b_n = 1, 4, 9, 16, \dots \quad \left. \begin{array}{l} a_n \cap b_n = 2, 16, 18, \dots = 4n-1 \end{array} \right\}$$

(18)

$$\left. \begin{array}{l} a_{10} = 2(10) + 1 = 21 \\ b_{10} = 2(10) - 1 = 19 \end{array} \right\} \Rightarrow 4n-1 \leq 21 \Rightarrow 4n \leq 22 \Rightarrow n \leq 5.5 \Rightarrow n = 1, 2, 3, 4, 5$$

$$\left. \begin{aligned} a_1 + a_2 + a_3 + \dots + r_1 &\Rightarrow a_2 = r_1 \\ a_1 + a_2 + a_3 + \dots + 10 &\Rightarrow a_3 = r_1 \end{aligned} \right\} \Rightarrow a_1 = r_1 - r_1 - r_1 = -r_1$$

$$\frac{r_1 d - r_1(-r_1)}{-r_1} = \frac{r_1}{-r_1} = \boxed{-\frac{1}{r_1}}$$

$$a_1 + a_2 + a_3 + \dots + 10 \Rightarrow a_1 = d$$

$$a_1 + a_2 + \dots + r_1 d \Rightarrow r_1 a_1 + d d + r_1 d \Rightarrow 10 + d d + r_1 d \Rightarrow d d + 10 \Rightarrow \boxed{d = r_1}$$

$$a_1 = a_2 + 10d = d + 10(r_1) = \boxed{r_1 9}$$

$$S_9 = 9 S_r \Rightarrow \frac{9}{r_1} (a_1 + a_9) = 9 \left(\frac{r_1}{r_1} (a_1 + a_9) \right)$$

$$\Rightarrow a_1 + a_9 = r_1 (a_1 + a_9) \Rightarrow r_1 a_1 + 10d = 9a_1 + 9d \Rightarrow d = r_1 a_1$$

$$\Rightarrow \frac{a_9}{a_1} = \frac{a_1 + 19(r_1 a_1)}{a_1 + 9(r_1 a_1)} = \frac{r_1 9 a_1}{r_1 9 a_1} = \boxed{r_1}$$

$$a_f = \frac{r_1 d + 11}{r_1} = r_1$$

$$b_f = b_1 + r_1 d = r_1 n + r_1 \left(\frac{1r_1 - r_1 n}{n+1} \right) \Rightarrow \frac{-r_1 d}{n+1} = -10 \Rightarrow n+1 = d \Rightarrow \boxed{n = 9}$$